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SSC MTS Exam. – Practice Set
Answer with Explanation
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Session-I
Mathematics

1. (b)

68

80 60

8 12

Šéye# Šéye

      2 : 3
     40 : 60
Šéye = 60%

2. (a) 12 × 210 – 12 × 205
= 2520 – 2460 = 60

3. (a) öÝþÆöì̃ îû †!“þöìî† = 36 !„þöìœy!›Ýþyîû/‡^ùÝþy = 36 × 
5

18  =

10 !›Ýþyîû/ö¢öì„þuþ
öîûœ!îÊ‹ x!“þe«› „þîûöìœ öÝþÆöì̃ îû !˜öì‹îû ÷”öì‡ÅÄîû ¢öìD
!îÊöì‹îû ÷”öì‡ÅÄîû öëy† £ëû xíÅyê (120 + 360) = 480
!›Ýþyîû
¢%“þîûy‚– 10 !›Ýþyîû öëöì“þ öÝþÆöì̃ îû ¢›ëû œyöì† 1 ö¢öì„þuþ

1 !›Ýþyîû öëöì“þ öÝþÆöì̃ îû ¢›ëû œyöì† 
1

10  ö¢öì„þuþ

480 !›Ýþyîû öëöì“þ öÝþÆöì̃ îû ¢›ëû œyöì† 
480 48
10

  ö¢öì„þuþ

4. (b) ö˜ï„þyîû †vþü †!“þöìî†
x %̃„)þöìœîû öî†  ²Ì!“þ„)þöìœîû öî†

!ßþiîû ‹öìœ ö˜ï„þyîû öî†
×

=

(25 5) (25 5) 30 20
25 25

   
 

= 24 !„þöìœy!›Ýþyîû/‡^ùÝþy

5. (d) vÈþyöì›îû 
3
4 x‚Ÿ ö“þœ xyöìŠéÐ

30 !œÝþyîû öîîû „þöìîû !˜öìœ 
7

12  x‚Ÿ þ™)’Å íyöì„þÐ

3 7 9 7 2 1
4 12 12 12 6

      
 

 x‚Ÿ

 
1
6 x‚Ÿ = 30 !œÝþyîû

 1 x‚Ÿ = 30 × 6 = 180 !œÝþyîû

6. (d)

312100 12prt 4I 1953
100 100

 
    Ýþy„þy

7. (d) •!îû– ›)œ•˜ = x
5 îŠéöìîû ¢%” xy¢œ = 3x
¢%” = 3x – x = 2x
2x Ýþy„þy £œ 5 îŠéöìîûîû ¢îûœ ¢%”
(5x – x) = 4x Ýþy„þy £œ (5 × 2) = 10 îŠéöìîûîû ¢îûœ
¢%”
 10 îŠéöìîû ›)œ•˜ 5 =’ £öìîÐ

8. (c) ²ÌÙÀy˜%¢yöìîû–
3 3 3r r 427 1 64 1

100 100 3
              
     

r 1 1r 33 %
100 3 3

   

9. (a) 12.5 !›!˜Ýþ 
125

10 60


  ‡^ùÝþy

•!îû– †y!vþüîû †!“þöìî† = x !„þ!›/‡^ùÝþy

öÝþÆöì̃ îû †!“þöìî† 
150x 3x
100 2

   !„þ!›/‡^ùÝþy

²ÌÙÀ›öì“þ–

75 75 125 75 2 251
x 3x / 2 10 60 x 3 10 12

        

75 25 3 x 120
x 10 12 1

    


 †y!vþü!Ýþîû †!“þöìî† 120 !„þ!›/‡^ùÝþy
10. (a) e«ëû›)œÄ = 450 Ýþy„þy

20% œy¦þ „þîûöìœ !îe«ëû›)œÄ 
450 120

100


  = 540 Ýþy„þy

10% !vþ¢„þyvþzrÝþ !”öìœ •yëÅÄ›)œÄ £öìî = 100540
90



      = 600 Ýþy„þy
11. (a) “þy›y ­ ”hßþy = 5 : 3

24

15 9
3 ö„þ!‹ “þy›y ö›Ÿyöì̃ y £öìœ “þy›yîû þ™!îû›y’ 15 + 3 =
18
 ˜“%þ˜ x˜%þ™y“þ = 18 : 9 = 2 : 1



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 6  xöìQyîîû– 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

12. (b) A „þy‹!Ýþ „þöìîû 6 !”öì̃
B „þy‹!Ýþ „þöìîû 8 !”öì̃
A + B ~„þ¢yöìí „þy‹ „þîûöìœ ¢›ëû œyöì†

8 6 24
14 7


   !”˜

A, B, C ~„þ¢yöìí „þîûöìœ ¢›ëû œyöì† = 3 !”˜

 C ~îû ~„þy ¢›ëû œyöì† 

24 3
7 2424 3
7


 


 !”˜

~…˜ 6, 8, 24éôé~îû œ¢y= = 24
A ~îû Ÿ“þy‚Ÿ = 24/6 = 4
B ~îû Ÿ“þy‚Ÿ = 24/8 = 3
C ~îû Ÿ“þy‚Ÿ = 24/24 = 1

C Ýþy„þy þ™yöìî 1200 25
8

   Ýþy„þy

13. (d) ÝþÆy!þ™!‹ëûyöì›îû öÇþešþœ

= 
1
2  × S¢›yhsþîûyœ îyýmöìëûîû ÷”öì‡ÅÄîû öëy†šþœV × S“þyöì”îû

›öì•Ä œÁº ”)îûcV

îy– 1105 (9 12) H
2

     S›öì̃ „þ!îû– ”)îûc = H)

îy– 210 = 21 × H

îy– 210H 10
21

   !›Ýþyîû

14. (b) ö”çëûyöìœîû ö›yÝþ xyëû“þ˜ = 2400 × 800 × 60 ‡˜öì¢!›
 ö”çëûyöìœîû ö›yÝþ xyëû“þöì̃ îû 10% îy!œ ç !¢öì›rÝþ
xyöìŠé
 £zÝþ xyöìŠé ö›yÝþ xyëû“þöì̃ îû 90%
 Ö•% £zöìÝþîû ö›yÝþ xyëû“þ˜ = (2400 × 800 × 60) ×
90%
 ö›yÝþ £zÝþ œy†öìî

90 2400 800 60 45000
100 24 12 8
  

 
  

!Ýþ

15. (c) !e¦%þöì‹îû þ™!îû¢#›y = 40 ö¢!›
 î,£_› îyý = 17 ö¢!›– îy!„þ îyýmöìëûîû öëy†šþœ
= 40 – 17 = 23 ö¢!›
 Ç%þo“þ› îyýîû ÷”‡ÅÄ x ö¢!› £öìœ 6 < x < 12
xíÅyê ÷”‡ÅÄ £öìî = 8 ö¢!›

16. (b) ö†yœöì„þîû îÄy¢ = 18 ö¢!›
îÄy¢y•Å (r) = 9 ö¢!›

 xyëû“þ˜  334 4 4r . 9 729
3 3 3


      ‡˜ ö¢!›

“þyöìîûîû îÄy¢y•Å = 4 !›!› = 0.4 ö¢!›

•!îû– “þyöìîûîû ÷”‡ÅÄ = x ö¢!›

²ÌÙÀy˜%¢yöìîû–  2 40.4 x 729
3


  

îy– 
4 1x 729
3 0.16


  


îy– 
243 100x

4




îy– x = 6075

17. (c) 2x 1 2x 1 3(x 3)
(x 3)

12 2 .2 1
8

  
  

2x 3x
2x 1 3x 9

9

2 22 .2 1 1
2 2

     

 25x = 210

5x = 10
x = 2

18. (d)
2 1 1 32x 3 2 x 3 x
x x x 2

         
 

3
3

3

1 27 1 1 27x x 3 x
x 8 x x 8

             
   

3
3

1 3 27x 3.
x 2 8

   

3
3

1 27 9 27 36x
x 8 2 8


    

3
3

1 9 7x 2 2
x 8 8

     

19. (c) 34 90 104

56 14
14 !”öìëû ¦þy† „þîûöìœ ²Ì!“þöìÇþöìe 6 ¦þy†öìŸ¡ì íy„þöìîÐ

20. (a) xyëû„þîû × 19% = ›)œ xyëû × 1%

1
19

 
xyëû„þîû
›œ)  xyëû

ö›yÝþ xyëû = 20

xyëû„þîû % 
1 100% 5%
20

  

General Intelligence
1. (a) 13 × 14 = 182

18 × 19 = 342
14 × 15 = 210
19 × 20 = 380

2. (a) ²Ìöì“þÄ„þ!Ýþ îöì’Åîû ßþiy˜#ëû ›yöì̃ îû =’šþœ £œ !e¦%þöì‹îû ›yöìGþîû
¢‚…ÄyÐ
xíÅyê N × E × G = 14 × 5 × 7 = 490
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3. (b) B Šéyvþüy îy!„þ=öìœyöì„þ 3 !”öìëû =’ „þîûöìœ !m“þ#ëû ¢‚…Äy
xy¢öìîÐ öë›˜éôô
81 × 3 = 243
64 × 3 = 192
25 × 3 = 75
!„þlsþ– 16 × 4 = 64

4. (b) ²Ìí› ö×!’îû ²Ìí›– !m“þ#ëû– “,þ“þ#ëû ~î‚ ‰þ“%þíÅ î’Å ëíye«öì›
~„þ– ”%£z– !“þ˜ ~î‚ ‰þyîû ‡îû ~!†öìëû !m“þ#ëû ö×!’îû î’Å=!œ
þ™yçëûy ëyëûÐ

5. (a)
15 12 3

9




44 28 8
9




64 53 13
9




6. (d)

övþ!¦þvþ öŸ…îû •˜%¡ì îyœy ¦þy¡ìy

7. (b) A

D

B F C

I

J

G H
K

L

EM

8. (a) 120 99 80 63 48 35

–21 –19 –17 –15 –13

9. (a) Z W T Q N

–3 –3 –3 –3

10. (c) a b b | a a b | a b b | a a b
11. (c) g f e i i | g f e i i | g  f e i i | g f e i i

12. (b)

13. (b) 30 ‹y˜%ëûy!îû– 2003 !Šéœ î,£ßþ™!“þîyîûÐ “þy£z 6“þ›– 13“þ›–
20“þ› ~î‚ 27“þ› öšþîÊ&ëûy!îû ¢î£z î,£ßþ™!“þîyîûÐ
~£z¦þyöìî– 2 ›y‰Åþ– 2003 !Šéœ î,£ßþ™!“þîyöìîûîû 3 !”˜ þ™îû
xíÅyê îû!îîyîûÐ

14. (a) My = 3, favourite = 8, country = 4, India = 9

15. (d)

M+ D–

K

H–

ö„þyöì̃ y!Ýþ£z ˜ëûÐ
16. (d) A, B ~îû ¦þy£z £öìîÐ
17. (a) H

8

D B G

4 2 7
öŠéyÝþ öíöì„þ îvþü ¢y‹yöìœ £öìî = 2, 4, 7, 8

18. (b) 4 16 9 25   = 2 + 4 + 3 + 5 = 14

~„þ£z¦þyöìî– 9 49 36 1    = 3 + 7 + 6 +
1 = 17

19. (a) !“þ!˜ þ™!Øþ› !”öì„þ £¤yÝþöìŠé˜Ð

3 !„þ!›

2 !„þ!›

3 !„þ!›

20. (b) ›y £z!O!˜ëûyîû

›!£œy
Session-II

General Knowledge
1. (d) !šþ›yîû ›y˜îöì”öì£îû ¢îöì‰þöìëû ”#‡Å“þ› £yvþüÐ ~!Ýþ Thigh

bone ˜yöì› þ™!îû!‰þ“þÐ
2. (b) öîû„þ!Ýþšþyëûyîû ëöìsþfîû ¢y£yöìëÄ xÎÝþyîûöì̃ !Ýþ‚ „þyöìîûrÝþ (AC)

öíöì„þ !vþöìîûQ „þyöìîûöìrÝþ þ™!îûî!“Åþ“þ £ëûÐ
3. (b) !šþvþz‹ “þyöìîûîû ›)œ vþzþ™y”y˜ £œéôô !Ýþ˜ ç ¢#¢yÐ
4. (b) xyöìœyîû ²Ì!“þ¢îûöì’îû ¢)e xy!îÜñyîû „þöìîû̃  ößþ¬œÐ ößþ¬öìœîû

¢)e!Ýþ £œ n1sin1 = n2sin2Ð
5. (a) 3 xy†ÞÝþ ˜“%þ˜ !”!ÍÔîû ˜ÄyŸ˜yœ ~!@ùÌ„þyœ‰þyîûyœ ¢yöìëûª

ö¢rÝþyö ìî û ò32“þ› £z rÝ þyîû˜ÄyŸ˜yœ „þ˜šþyö ìî ûª x˜
~!@ùÌ„þyœ‰þyîûyœ £z„þ˜!›ÞÝþó xyöìëûy!‹“þ £öìëû ö†œÐ

6. (c) þ™y!…îû xy„þyöìŸ çvþüy !˜vþzÝþöì̃ îû “,þ“þ#ëû †!“þ¢)öìeîû ¢yöìí
¢Á™!„Åþ“þÐ !˜vþzÝþöì̃ îû “,þ“þ#ëû †!“þ¢)e!Ýþ £œ ²Ìöì“þÄ„þ îlßþîû
¢›y˜ ç !îþ™îû#“þ !e«ëûy ç ²Ì!“þ!e«ëûy íy„þöìîÐ

7. (c) òþ™yî!œ„þ çëûy„Åþ¢ !vþþ™yÝÅþöì›rÝþó ”®îû ²Ì!“þÛþy „þöìîû̃  œvÅþ
vþyœöì£ï!¢Ð œvÅþ vþyœöì£ï!¢öì„þ öîûœþ™öìíîû ‹˜„þ îœy £ëûÐ
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8. (b) ‹öìœ xy‚!Ÿ„þ övþyîyöì̃ y ö¢y‹y ”[þöì„þ î¤y„þy ö”…yöì̃ yîû „þyîû’
²Ì!“þ¢îû’Ð

9. (c) ‘White Gold’ îœy £ëû ²ÕÄy!Ýþ˜y›öì„þÐ
10. (b) ¢Á±!“þ ”œ!‹ê !¢‚ ö‰þï•%!îû îvÅþyîû !¢!„þvþz!îû!Ýþ öšþyöì¢Åîû !vþ!‹

!£¢yöìî !˜ë%_« £öìëûöìŠ˜éÐ !“þ!˜ î“Åþ›yöì̃  ¢Ÿßþf ¢#›yîöìœîû
!vþ!‹ !£¢yöìîç !˜ë%_« xyöìŠé˜Ð

11. (a) „þÄyöì›îûyëû x!¦þ¢yîû# öœª îÄî£yîû „þîûy £ëûÐ
12. (d) ~£z!R˜ !šþšþ!Ýþ ö¢öì¦þ˜ î£z!Ýþ !œöì…öìŠé˜ ¢%öìîûw˜yí ö¢˜Ð
13. (a) “%þœ!¢”y¢ îûy›‰þ!îû“þ ›y˜¢ îû‰þ˜y „þöìîû!Šéöìœ˜Ð “%þœ!¢”y¢

xy„þîöìîûîû ¢›¢y›!ëû„þ !Šéöìœ˜Ð
14. (d) ²Ìí› ›yœ£yîû îûyç ö£yœ„þyîû ¦þyîû“þ#ëû xßþ™Ÿ,Ä“þy î‹Å̃

„þöìîû!Šéöìœ˜ ~î‚ îÊyáþ’ !îöìîûy•# xyöì̈ yœ˜ Öîû& „þöìîû!Šéöìœ˜Ð
15. (a) ¢Á±!“þ ² Ì„ þy!Ÿ“þ 'India@100: Envisioning

Tomorrow's Economic Powerhouse' ˜y›„þ @ùÌöìsþiîû
îû‰þ!ëû“þyîû ˜y› ö„þ !¦þ Ö¼›!˜ëûy˜Ð !“þ!˜ £zrÝþyîû̃ ÄyŸ˜yœ
›y!˜Ýþy!îû šþyöìuþîû ~†!‹!„þvþz!Ýþ¦þ !vþöìîûQîû !£öì¢öìî ”#‡Å!”˜
„þ›Åîû“þ xyöìŠé˜Ð

16. (d) ”%!Ýþ £yœ„þy !˜vþz!„Ïþëûy¢ ë%_« £öìëû ~„þ!Ýþ îvþü !˜vþz!„Ïþëûy¢ †àþöì̃ îû
þ™kþ!“þöì„þ !îöìëûy‹˜ îöìœÐ

17. (b) £z!í!œöì̃  H-C-H ¢‚îkþ ö„þy’!Ýþîû þ™!îû›yþ™ £œé 109°28'Ð
18. (b) ²Ìhßþyî˜yöì„þ Soul of the constitution îy ¢‚!î•yöì̃ îû

xydy îöìœ ›öì̃  „þîûöì“þ˜ àþy„%þîû”y¢ ¦þy†ÅîÐ
19. (c) NABARD ¢‚ßþiy ¡ìÛþ þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜yëû ²Ì!“þ!Ûþ“þ

£öìëû!ŠéœÐ NABARD ²Ì!“þ!Ûþ“þ £ëû 12 ‹%œy£z– 1982
¢yöìœÐ

20. (d) ¢Á±!“þ ICMAI-~îû 67“þ› ö²Ì!¢öìvþrÝþ !£¢yöìî !˜ë%_«
£öìëûöìŠé˜ !î¦)þ!“þ¦)þ¡ì’ ˜yöìëû„þÐ !“þ!˜ ç£z þ™öì” þ™)îÅî“Åþ#
þ™”y!•„þyîû# x!Ù»˜ ”yœçëûy!vþüîû ßþiœy!¦þ!¡ì_« £öìœ˜Ð

21. (b) ¦þyîûöì“þîû î,£_› vþzþ™£É” !‰þÍñy þ™)îÅéôévþzþ™„)þöìœ xî!ßþi“þ Sç!vþŸy
vþzþ™„)þöìœ xî!ßþi“þVÐ

22. (c) œvÅþ ˜íÅîÊ&„þ 1876 !…ÊÞÝþyöì· ˜yÝþÄy!¦þ̃ ëû !˜ëûsþf’ xy£z̃  ²Ìî“Åþ̃
„þöìîû̃ Ð

23. (b) 1 + 3 + 4

24. (a) ²ÌŸyhsþ‰þw ›£œy˜!îöìŸîû ›öìvþöìœîû çþ™îû !¦þ!_ „þöìîûÐ 1956
¢yöìœ !m“þ#ëû þ™!îû„þÒ˜yîû Öîû&îû ¢›ëû ~£z ›£œy˜!îŸ ›öìvþœ
†,£#“þ £ëûÐ

25. (b) ¢Á±!“þ £zvþz̃ y£zöìÝþvþ ö˜Ÿ˜¢ „þ›Äyuþ SUNCV £z̃  ¢yvþzí
ö„þy!îûëûyîûû 18“þ› ¢”¢Ä !£¢yöìî xhsþ¦Å%þ_« £öìëûöìŠé ‹y›Åy!˜Ð
²Ì¢D“þ vþzöìÍÔ…Ä– £zvþz̃ y£zöìÝþvþ ö˜Ÿ˜¢ „þ›Äyuþ 1950 ¢yöìœîû
7 ‹%œy£z ²Ì!“þ!Ûþ“þ £öìëû!ŠéœÐ

English
1. (d) Smudge (Noun) means dirt smear.
2. (b) Unanimous (Adjective) means in agreement.
3. (b) Defy (Verb) mean to challenge; dare.
4. (d) Oblige (Verb) means bind; constrain.
5. (c) Stern (Adjective) means serius; cruel, stern.
6. (a) Woolen
7. (d) Succeed
8. (b) To make fool of
9. (c) A hidden enemy
10. (b) ‘had been working’ insted of 'are being working’.
11. (c) ‘there/here’ instead of ‘where’.
12. (c) To be a drunkard
13. (d) To carry on a contest regrardless of

consequences
14. (c) Add ‘a’ before ‘ring’.
15. (b) Use ‘has been running’ in place of ‘is running’.
16. (b) To make one appear guilty
17. (d) No error
18. (b) It should be ‘binoculars’ (becuse it consists of

two parts). There is nothing like ‘binocular’ in
English.

19. (c) The logical sequence is QPRS.
20. (c) The logical sequence is RPQS.
21. (a) better
22. (d) talented
23. (c) retain
24. (d) unreasonably
25. (b) lower


